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N = 0 &8 AF S & Al A
20108 = 20la LEHSIH ALSI =2 XD ~ AbSI =X Dt
2M: A= X 0
HM: 20)|ZMHESE
SR MASS J=ME2H (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
AEI = X 0t 86,303,045 77,108,328 9,194,717
= 44,985,039
= 1,784,552
< 9,755,127
Al 29,778,327
201D ZME DA 27,028,725 27,523,817 A495,092
= 21,408,432
< 2,499,424
Al 3,120,869
MASS JIzMaeEX 24,137,507 25,192,080 A 1,054,573
= 19,130,432
< 2,355,004
Al 2,652,071
JZ=MEBE MAZ0 18,614,290 18,560,000 54,290
= 14,891,432
< 1,861,429
Al 1,861,429
301 LEtEAS 17,945,290 17,865,000 80,290
=2 14,356,232
< 1,794,529
Al 1,794,529
01 AMISIEE A 512 17,945,290 17,865,000 80,290
OJIZMBSE MAHASZO
17,945,290,000& *14] 17,945,290
= 14,356,232
< 1,794,529
Al 1,794,529
307 GI2t0IH 669,000 695,000 226,000
= 535,200
< 66,900
Al 66,900
02 QI2tFZAB X 669,000 695,000 N26,000
OBFAME MAS0 (L0, Eofel)
669,000,000 14! 669,000
= 535,200
< 66,900
Al 66,900
I ZMEEA =20 4,221,250 4,921,250 A700,000
= 3,377,000
< 422,125
Al 422,125
301 LEtEAS 4,121,250 4,821,250 700,000
= 3,297,000
< 412,125
Al 412,125
01 AISIEEE 252 4,121,250 4,821,250 700,000
OJIZMEEE ZHZ0 4,121,250,0002 x14! 4,121,250
= 3,297,000
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& 412,125
Al 412,125
307 212t01& 100,000 100,000 0
= 80,000
& 10,000
Al 10,000
05 CIZtRAEIZ 100,000 100,000 0
OFHEE=0 =2l 100,000, 000& *14] 100,000
= 80,000
& 10,000
Al 10,000
I ZMEFE =30 830,000 558,750 271,250
= 664,000
& 49,800
Al 116,200
301 LEtEAZ 830,000 558,750 271,250
= 664,000
= 49,800
Al 116,200
01 M2IEEE =6z 830,000 558,750 271,250
OJI=MeEd =0 830,000,000 14 830,000
= 664,000
= 49,800
Al 116,200
S0 ZMHEEXHRARASG 2Y 2,800 2,800 0
201 LEt23| 2,800 2,800 0
01 AtE222|Hl 2,800 2,800 0
O3 292 2,800
D SLRINZMEEEHLARS 39 HFAH
70,000& 1021 %4 3] 2,800
MASF0l MEEXJS 100,000 100,000 0
301 LEtEAZ 100,000 100,000 0
01 ARIEEE 263 100,000 100,000 0
ONASZD MEomENa2
2,000,000& *502! 100,000
NAS=x0 H2AEE = XI& 99,000 100,000 A 1,000
301 YBtE A= 99,000 100,000 A 1,000
01 MEIEEXE 6= 99,000 100,000 A 1,000
O Has=0 A2Z2Ez XA
5,500& *1,50021 «12& 99,000
HArss el X 22,667 34,000 A 11,333
& 6,800
Al 15,867
206 M=l 22,667 34,000 A 11,333




SH: AEI= XD
Ha: 2p10|EY
Sl HASE JIZMESE (S5l &2

el
x
0
2
i
4o
fon
2
>
el
=
R
iz
0x
I
2
[
2
2
R
12
o
£l
0l%
IS

6,800
15,867

=

01 M=l 22,667 34,000 211,333
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19,950
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= HnH
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O1 L= 16,630
DIaegs 2E5ls 16,630,000 14 16,630
13,304
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2,328

= H W

301 et ez 125,870 49,250 76,620
100,696

7,552
17,622

= N W

01 M2 H 2063 125,870 49,250 76,620
Oxtatel =l 125,870,000& 141 125,870
100,696

7,552
17,622

= N W

off &F . Z Xl = O 105,000 89,224 15,776
84,000
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14,700

= Hn N

301 LEtE2AS 105,000 89,224 15,776
84,000
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14,700

= HnH

01 A2 H+6= 105,000 89,224 15,776
Odll &t . EH=Z 0 500,000& 210 105,000
84,000

6,300
14,700

=z HnH
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=z HnH

XX 2,338,214 1,872,883 465,331
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A AR =X

M ABI=XOIY TA W HQ=T
Sl ALSI= X JIE R (S5 &2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
NEEPIEIRES= W TV EIEIVIEFS 14,596,573 3,516,906 1,079,667
= 4,105,350
= 1,089,344
= 2,605,864
Al 6,796,015
NS ITE S 2,059,953 1,800,451 259,502
= 517,065
= 175,392
Al 1,367,496
ZEAE=N 2 X 1,107,993 1,108,891 £898
= 517,065
Al 590,928
202 01t 6,000 6,000 0
01 =2Uioibl 6,000 6,000 0
OJZMB2Y 22 +8 Ot
500,000% * 1224 6,000
01 LB AZ 1,000 1,000 0
10 BAAEI 242 1,000 1,000 0
OXNHAMSIZXIBAK DS0iH]
100, 000! %591 +25] 1,000
307 2201 H 1,004,250 977,868 26,382
= 435,922
Al 568,328
02 PIABAEE 1,004,250 977,868 26,382
OZsMsI=X2 2| 785,770
> OIS YBSEAS =N D)
296,821, 0002 +27H 2 593,642
= 232,896
Al 360, 746
> L (RF S AE =R 2)
192,128,000 %14 £ 192,128
= 85,648
Al 106,480
OOISEXNR 2YH (IS =R R)
29,000, 00021 %174 29,000
OTHIFZRIZAHIE 2l 63, 160,0002 +30H 2 189,480
= 117,378
Al 72,102
402 RI2AX 201 9,743 124,023 ~27,280
= 81,143
Al 15,600
01 PIAX=EE 9,743 124,023 £27,280
OZEMEI=XT Jls2Y
32,247, 60021 *30H 9,743
= 81,143
Al 15,600




A AR =X

HE: ALG=2XD|8 2N Y EojelEX =X
S2: AISIEX JIBtEA EERCED
_ = P e
2N -3 - c2(3H) - NEME - HES Off Ak oH oﬁwa Hon=s2t
NAAMS=REM 29 75,000 5,040 69,960
307 2I2t0| A 75,000 0 75,000
02 QIZHAAE R 75,000 0 75,000
OXNSAME2REAM 29|
75,000,000 * 11 A 75,000
ABISEXAE BSAL SEXSS (SR 2, T, Q1 F 876,960 666,720 210,240
0K)
< 175,392
Al 701,568
307 2I2t0| A 876,960 666,720 210,240
< 175,392
Al 701,568
02 QIZtAAE R 876,960 666,720 210,240
OMBIEXAILBAR XSS (2R 2, U =
ol & el 876,960,000 * 1Al 876,960
< 175,392
Al 701,568
ZOfOIEXAIE 2H X 5,784,295 5,934,730 A 150,435
= 547,279
(= 1,995,403
Al 3,241,613
Zojol=nzs 29 725,599 754,998 229,399
2 228,890
Al 496,709
307 2I2t0| A 725,599 754,998 229,399
= 228,890
Al 496,709
02 QIZHAAIE R 725,599 754,998 A29,399
oFjeI=x2 24 725,599, 0002 * 104 A 725,599
=2 228,890
Al 496,709
ROHQIXATHEAIE 29 436,589 411,297 25,292
2 198,958
Al 237,631
307 2I2t0| A 436,589 411,297 25,292
= 198,958
Al 237,631
02 QIZtAAEXR 436,589 411,297 25,292
OXOMIEATHEAAE 2Y
109, 147, 20024 *4 04 A 436,589
2 198,958
Al 237,631
O ZSMEIIAE 29 119,389 195,873 AT6,484
= 19,587
Al 99,802
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307 2I2tol & 119,389 195,873 NT6,484

19,587
99,802

= [

02 212t ES 119,389 195,873 AT6,484
SHEIIE2A 19,898, 1603 *6IH & 119,389

19,587
99,802

= M

A RESHH 2 168,792 161,356 7,436

48,407
120,385

=M

307 2120l & 168,792 161,356 7,436

48,407
120,385

= [

02 232X 168,792 161,356 7,436
[¢]

(o]

8,792,000 *1JH £ 168,792

48,407
120,385

=M

ZOHUHIESAE 29g 125,092 120,096 4,996
36,029
89,063

Rl

307 2120l A 125,092 120,096 4,996

36,029
89,063

=M

02 &l

~
0y

o o
Mmoo
A

125,002 120,096 4,996

O
0z
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S
HL
fol
=
x
H0

(o]

125,092,000 * 190 £ 125,092
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89,063

Rl

03
=
ro
0z
o
Z
x
H0
02
P}
0

3,942,246 3,907,019 35,227

1,971,123
1,971,123

= H

307 QI12told 3,942,246 3,907,019 35,227

1,971,123
1,971,123

=

02 Y2tFoEx 3,942,246 3,907,019 35,227

DN

3,942,246,000& » 14| 3,942,246
1,971,123
1,971,123

O
il
=]
©°
0z
ek
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M
Ho

= H

ZOHIF=2HESAE 29 95,188 154,079 58,891
15,408
79,780

=M

307 2120l & 95,188 154,079 /58,891

15,408
79,780

= [




A AR =X

M ABI=XOIY TA W HQ=T
ool HOHOISXIAL 2K (e @
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
02 QIAAMBE 95, 183 54,079 58,891
OB FABEAL 29
47,594,00024 274 95, 188
s 15,408
Al 79,780
SESANHY 57,200 112,212 A55,012
= 1,440
Al 55,760
307 212H0IH 57,200 112,212 £55,012
= 1,440
Al 55,760
02 QIRIAMBE 57,200 112,212 £55,012
O4BISHMEIZ RBBEY| 7,200,002 *19] 7,200
= 1,440
Al 5,760
O+stSAME 2| 50,000, 00021 * 14! 50,000
ROHQIAL 2P X2 7,200 10,800 3,600
= 1,440
Al 5,760
307 2120l H 7,200 10,800 3,600
= 1,440
Al 5,760
02 QIHHARE 7,200 10,800 3,600
OBOIAIL HH2PLI2 N
7,200,0002 14! 7,200
= 1,440
Al 5,760
ZONQIMBAIL 22| MEQIR X 9,000 96,000 0
= 19,200
Al 76,800
307 212+0IH 96,000 96,000 0
= 19,200
Al 76,800
02 QIAHABE 96,000 96,000 0
OFOHQIMEAIL 2| FEol X2
96,000,000 %14} 96,000
= 19,200
Al 76,800
ROHQIALBAR SRS X 1,000 1,000 0
= 200
Al 800
301 LHBAI 1,000 1,000 0
= 200
Al 800
01 A B X253 1,000 1,000 0
OBOHQALBAK IS DS 50,0008 %291 1,000




SH: AEI= XD
M ABSN0IY ZH Y DOjRI=T EA
ool HOHOISXIAL 2K (B9 &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
< 200
Al 800
TONQI AT AIE Hhasbl N 10,000 10,000 0
= 2,000
Al 8,000
307 212+0IH 10,000 10,000 0
= 2,000
Al 8,000
02 PINBAEE 10,000 10,000 0
OBOHQAX AT A& thHI
10,000,000 *1JH 10,000
= 2,000
Al 8,000
ZOHOl ME BOIWB 280,630 241,630 39,000
= 3,800
= 15,000
= 42,580
Al 219,250
ZOHOl ME BMOl HB 15,830 16,830 A1,000
201 Ygreg| 12,230 13,230 A1,000
01 AtRZelt| 2,240 3,240 A1,000
O1 ger2gH| 2,240
> MOHIRSK EXME 800 +2,80004 2,240
02 ZZ2Y| 9,990 9,990 0
O1 2223 % HMAl 9,990
> HATOHO YA CEU ABE
370,000 x27CH 9,990
202 01t 3,600 3,600 0
01 =Ly 01| 3,600 3,600 0
OZOHQI=X &P 48 0fHl 300,002 128 3,600
SOIEZOHO FEIHTALLY 7,600 7,600 0
=2 3,800
= 1,140
Al 2,660
206 2| 7,600 7,600 0
= 3,800
= 1,140
Al 2,660
01 T2l 7,600 7,600 0
OSOIEROl ZEIHFAIR! 7,600,008 *14] 7,600
= 3,800
= 1,140
Al 2,660
g0l ZENY 22 X2 24,000 24,000 0
= 4,800
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= [
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= H
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8,000
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= H
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40,000

02 elzt
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= M
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8,000
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40,000

= H

21,000

4,200
16,800

21,000

= H

21,000

4,200
16,800

21,000

02 2I2tda2x
o

ASEXN2HE 2

21,000,000& * 14|

=z H

21,000

21,000

4,200
16,800

21,000

= M

16,800

3,360
13,440

16,800

307 2120l &

=

16,800
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A AR =X

M ABI=XOIY TA W HQ=T
CHol: FOHO! M WolH2 (Sl &2)
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
VI PR S 16,800 16,800 0
O L2224 X 16,800, 0002 * 14! 16,800
= 3,360
Al 13,440
Zojel A2 RS2 26,400 26,400 0
= 5,280
Al 21,120
307 Q1201 26,400 26,400 0
= 5,280
Al 21,120
VETEPEES 26,400 26,400 0
OOl &2 PSR 26,400,000 14! 26,400
= 5,280
Al 21,120
Zojol QASAA 2 29,000 29,000 0
= 5,800
Al 23,200
307 Q1201 29,000 29,000 0
= 5,800
Al 23,200
02 pIANBNBE 29,000 29,000 0
OROjQI QIZAA 2% 29,000,0002*10H A 29,000
= 5,800
Al 23,200
Bl BoAE XHMEH 29 20,000 20,000 0
307 Q1201 20,000 20,000 0
VEEIEPEES 20,000 20,000 0
OO0l BolAE XHHE 2
20,000, 00021 %174 2 20,000
ZZHNQANSNAME 22 X2 50,000 0 50,000
= 10,000
Al 40,000
307 QI2H0IH 50,000 0 50,000
= 10,000
Al 40,000
02 BIABABE 50,000 0 50,000
OZEZHHATNYNBME2Y
50,000, 00021 *1H 2 50,000
= 10,000
Al 40,000
ZOH MBON TE 4,065,765 3,492,016 573,749
= 2,817,502
= 10,000
= 244,635
Al 993,533
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M AB=X0IE 24 L FO=X EA
ol OHOl MEON D= EEREED
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot Hlws2
B0l o2yl N 126,076 98,388 27,688
=2 100,861
= 5,043
Al 20,172
301 YA 126,076 98,388 27,688
=2 100,861
= 5,043
Al 20, 172
01 ASI2EE 463 126,076 98,388 27,688
OXool o/ 2H| X& 126,076,0002 *14! 126,076
= 100,861
= 5,043
Al 20, 172
R4S XS 2,137,623 3,081, 125 943,502
=2 1,496,337
= 128,256
Al 513,030
301 YA 2,137,623 3,081,125 943,502
=2 1,496,337
= 128,256
Al 513,080
01 A2 EE 453 2,137,623 3,081,125 943,502
OFM+Y X 2,137,623,0002 14! 2,137,623
=2 1,496,337
= 128,256
Al 513,080
ZOHQ! XAl Xl 16,191 20,599 ~4,408
= 2,952
= 647
Al 2,502
301 YA 16,191 20,599 A4,408
=2 12,952
= 647
Al 2,592
01 ASlBEE 463 16,191 20,599 ~4,408
OOl T sty 16,191,000 * 14} 16,191
= 12,952
= 647
Al 2,592
TRl SEARCH XS 1,450 1,440 10
= 725
= 145
Al 580
301 YR AS 1,450 1,440 10
= 725
= 145
Al 580
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101 @121t 425,604 393,231 3,373
= 102,304
= 21,214
Al 302,086
04 JIAH2ENSE4 425,604 393,231 3,373
OZZ22AY 383,604, 00021 #14! 383,604
= 102,304
= 21,214
Al 260,086
OZIIZAYX 22 L 201013
3,500, 00021 #1284 42,000




2A: A2 =Xt
MM DEEX Y oby
CHel MeiThm CHeli )
SA - HEH l:|-0|(=|j;”) NEAY - HA2 Al OH &EIE =2}
SN ZH . CA(EH) - HEAIY - BYS = Off Ak oK =
201 LBty 2,320 2,320 0
01 AtSR2t2ldl 2,320 2,320 0
O1 Et==ZH| 1,200
DE32ZAY F& 100,000& = 12& 1,200
O3 2949 1,120
> ET22ALFHLARG 3l FA G
70,0003 821 x23] 1,120
202 4| 3,600 4,800 A 1,200
01 =LA b 3,600 4,800 A 1,200
O23Z2=zAg X & 300,000& =12& 3,600
FEoEY 160,440 0 160,440
80,220
80,220
101 eld| 160,440 0 160,440
= 80,220
Al 80,220
04 JIZtHZ22HEsSE+ 160,440 0 160,440
O&EEHY 764,000& x21H =102 160,440
= 80,220
Al 80,220
HHola XA 23,180 34,000 210,820
2xtel FHees 20,000 30,000 A 10,000
201 Ler23| 20,000 30,000 A 10,000
03 A2 I 20,000 30,000 A 10,000
O FHAees 10,000, 000& *23| 20,000
FEUbluay 24 3,180 4,000 A820
201 2Et23d| 3,180 4,000 A820
01 AtSR2t2ldl 3,180 4,000 A 820
O1 LEt==ZH| 180
DFAMEI A & 60,0003 x33l 180
O3 2949 3,000
DEAUEI LA 2AS 1,000,000& *33] 3,000
S|z Z2HE 1,759,705 0 1,759,705
= 1,679,552
7 & 80, 153
S|gz2z ZT2NE 1,759,705 0 1,759,705
= 1,679,552
= 80,153
101 Ql244| 1,212,000 0 1,212,000
= 1,156,795
== 55,205
04 JIZtMZ22XsSE+ ,212,000 0 1,212,000




SH: AEI=X D
Hm: DEEX Y o4
ol sYaR ZRME (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl Ak 04 il b o B2
SEEEEEEEEES
1,212,000, 0002 14! 1,212,000
= 1,156,795
& 55,205
201 LByl 8,400 0 8,400
= 8,017
= 383
01 Aty 8,400 0 8,400
O1 Yor+gH| 8,400
LEYRR TRME £ 8,400,008 14 8,400
= 8,017
= 383
202 01t 22,800 0 22,800
= 21,761
= 1,039
01 =LH0i ] 22,800 0 22,800
O8|Y22 TRME 7 22,800,000 1A 22,800
=2 21,761
= 1,039
206 T2l 516,505 0 516,505
= 492,979
= 23,526
01 HEbl 516,505 0 516,505
O8|Y22 TRME £7  516,505,0008 14! 516,505
= 492,979
= 23,526
WP ES(AIBI =X 1) 2,883,889 2,769,617 114,272
LA 1l X B (AFS] = X1 3H) 2,883,889 2,769,617 114,272
JRTOAIY HED 2,618,209 2,508,937 114,272
701 JIEBINEES 2,618,209 2,508,937 114,272
01 JIEtEIHEE2 2,618,209 2,503,987 114,272
OSIBS0IAY HES  2,618,209,0008 14! 2,618,209
HASE M4TAER ZUAY HES 265,680 265,680 0
404 BIIGX2HED 265,680 265,680 0
01 2IIYSHIHN2HED 265,680 265,680 0
O HASE M+TAEE LAY MBI
4, 1002 *5, 400K Ch » 122 265,680
™2 AAY) 123,238 114,006 9,232
ozt 2t (A8l = XDt 52,538 52,533 0
o=t 2t (AEI =X D) 52,538 52,533 0
101 o124l 48,333 48,333 0
01 24 48,333 48,333 0




A ARISX 0
M HH2I A
CHol: ol 2 Y| (MBI =X ) L
Rz . Ctol (5 AL . HA 2 A} OH &EIE -
N B3 ERA(ZAH) - MPAE - == &= Of] AFoH So
— T

OAI2IZ2+H 7,4573 2021 x300A1 2+ 44,742
Osgdaf2+g( )
56,1753« 121 %64 3,596
203 ¥R =&l 4,200 4,200 0
04 PA2SYRF 4,200 4,200 0
ORN2SYRE= 350,000& «128 4,200
228l (At S X1 70,700 61,468 9,232
=22l (ALSI =X Dt) 70,700 61,468 9,232
201 LEH2HH| 39,220 42,388 N3,168
01 AtS22ibl 30,720 32,788 A2,068
O1 Ler=ZH] 24,000
>EA2E+EH 2,000,000 123 24,000
05 =&t 6,720
> Ot. 5222 7,000& 2021 x43| 128 6,720
02 23223l 8,500 9,600 A 1,100
o1 88 # 7,500
> RERS 7,500
0 SJIsH 1,750 3004 « 123 6,300
O gtttz 2503 *4004 <12 1,200
O3 A2 &HI= X 1,000
> S A | X 500,000& +2CH 1,000
202 Oddl 23,280 12,480 10,800
01 =LHOYI 23,280 12,480 10,800
OJl=2d =04l 1,940,000& 128 23,280
405 XtotE SHI 8,200 6,600 1,600
01 HMHESHSH 8,200 6,600 1,600
OF=[UPSEA=I= ) 700,000 »2CH 1,400
OPC 1,300, 000& »4CH 5,200
Oss8 22% 500,000& 24 1,000
O=Xadg4 JHH 300,000& +2H 600




